Контрольная работа по теме «Тригонометрические формулы»
Вариант  1

1. Упростить: 
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2. Вычислить 
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3. Упростить: 
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4. Упростить: 
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5. Вычислить: 
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6. Вычислить: 
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7. Вычислить: 
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8. Вычислить: 
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9. Вычислить: 
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10. Вычислить: 
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11. Решить уравнение: 
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12. Решить уравнение: 
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Контрольная работа по теме «Тригонометрические формулы»

Вариант  2

1. Упростить: 
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2. Вычислить 
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3. Упростить: 
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4. Упростить: 
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5. Вычислить: 
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6. Вычислить: 
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7. Вычислить: 
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8. Вычислить: 
[image: image31.wmf]50

cos

70

sin

70

cos

40

cos

40

sin

20

cos

20

sin

50

sin

+

+

.

9. Вычислить: 
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10. Вычислить: 
[image: image34.wmf]3

8

sin

4

25

cos

6

2

p

p

.

11. Решить уравнение: 
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12. Решить уравнение: 
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